. Who has given the concept ‘status-set’?
A. Maclver B. Kingsley Davis
C. Robert Merton D. Weber

. A person is evaluated to high—if he receives rewards
which others have not:
A. Prestige
C. Esteem

B. Status
D. Position

. “A person’s status is his group standing or ranking in
relation to others” was said by:

A. Sheriff and Sheriff ~ B. Ginsberg

C. Ogburn and Nimkoff D. Kingsley Davis

. Status of an individual in the society is something
which is:

A. permanent

B. temporary

C. does not change with changing time

D. does not change with changing situations

. Role of an individual comes to prominance in a society
in which there is:

A. division of labour

B. no division of labour

C. no social complexity

D. no difficult social organisation

. Which one of the following cannot be placed under
the category of achieved status?

A. head of an office

B. manager of a firm

C. director of an organisation

D. recipient of some money

. A first born child may be given a special treatment by
his parents. How do you describe it?

A. The manner of introducing him to society

B. It shows the esteem of the parents

C. Child enjoys the prestige

D. Status is ascribed to him

. The Personal Manager in a corporation is an example
of .

A. informal status
C. legal status

B. bureaucratic status
D. formal status

is a state of relative isolation of the

occupants of a role.
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11.

12.

13.

14.

15.

16.

17.

A. Role-insulation
C. Ambiguous role

B. Role-discontinuity
D. Role-isolation

The status like husband-wife and doctor-patient can
be called

A. Perceived statuses
C. Status-set

B. Polar statuses
D. Paired-status

Which one of the following cannot be placed under
the category of role?

bride groom

basket making

traffic policeman

evaluation of answer books

Saws»

________ refers to a pattern of behaviour expected of
the occupant of the status.

A. Position B. Personality

C. Character D. Role

Usually in a society who of the following occupy high
social status?

A. An engineer

C. Petty Shopkeeper

B. A scholar
D. A painter

Which of the following has not much relevance with
status?

A. His allotted duty
C. His hard labour

B. His birth
D. His ecology

The changes from the courtship to the marriage is
referred toas __

A. Role-discontinuity
C. Internalized role

B. Perceived role
D. Role-continuity

Achieved status, means:

A. The status achieved during the process of cultural
diffusion

B. The status acquired during the process of
personality cult

C. The status acquired by the individuals during
the process of socialisation, on the basis of talent
etc.

D. The status acquired through the culture traits

________ refer to a set of roles that centres around
a particular social status.
A. Dual status

C. Role set

B. Polar status
D. Role continuity
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Which one of the following can be placed under the
category of ascribed status?

A. an engineer B. book writer

C. caste person D. social reformer

Which one of the following will you categorise as
achieved status?

A, sex B.
C. caste D.

age
social work
A status primarily refers to:

A. evaluated position  B.
C. functional position D.

prestigious position
group position

The Precedence of one role over another is called:
A. Role superiority B. Role-Primacy
C. Role-Precedent D. Role-model

________ refers to taking of the role of another by
viewing one self from the point of view of the other.
A. Role insulation B. Role-model

C. Reflexive role taking D. None of the above

According to Secrad and Buckman which one is not
the basis of status?

Capacity of a person for proper rewarding
Extent of receiving awards

His investments

His incomes

oSnow>

________ refers to statuses that exist in pairs by virtue
of the fact that each is defined in terms of its
relationship to the other.
A. Polar status
C. Pair-status

B. Status-set
D. None of the above

Age is considered an important cause of role
differentiation because:

A. of physical strength of the person concerned
B. of supposed capability for handling serious jobs
C. of increased social relationship

D. of high social status

One of the major problems of modern society is:
A. To harmonise conflicts

B. To focus attention on social conflicts

C. To under-estimate social conflicts

D. To over-estimate social conflicts

Social roles are responsible for:
A. smooth working of society

B. disorganising of society

C. bringing social stratification
D. claiming more rights

In modern industrialised society the status of women
in industry:

A. has considerably gone down

B. is gradually rising

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

C. has remained unchanged
D. has not been assigned

Role may be called:

A. As the behaviour of an individual which is
expected by the community

B. The particular post assigned to an individual to
be played

C. The contribution of the individual in innovating
a culture

D. The performance of certain duties by an individual
in his interest

In a democratic society role of a leader is not:
A. to take unilateral decision

B. to involve people in decision

C. to encourage decentralisation

D. to decrease social tensions

In Indian society who of the following ususally is
considered a person with low status?

A. An office clerk B. A good musician

C. A good painter D. A university teacher

Achieved status is one which is:

A. thrust upon a person

B. inherited by a person

C. based on the birth of a person

D. obtained by a person after struggle

Role decides the manner in which:
rights should be claimed

obligations should be discharged
rights should not be claimed
obligations should not be discharged

Saw»

___ means the location of individual in the
social network of reciprocal obligations and privileges,
i.e. rights and duties.
A. Prestige

C. Status

B. Position
D. Role

When a status is derived from the membership of an
involuntary group that is called?

A. Crystallization status B. Ascribed status

C. Achieved status D. Consistency status

In a competitive society, which one of the following
does not matter in status formation?

A. knowledge B. education

C. expertise D. family

Who has given the concept of “Reflexive role taking”?

A. Merton B. Linton
C. Cooley D. G.H. Mead
Who has given the concept of ‘Role set’?
A. Linton B. Merton
C. Maclver D. Tylor
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Which one of the following is not a cause of role
conflict?

A. Inadequate wage

B. Improper recognition of work

C. Indifferent attitude of the employer

D. Less production in the factory

Which one of the following is not covered under the
category of investments in rewards?

A. Race

B. Ethnicback ground

C. Physical environments

D. Family

Which one of the following is an important factor of
role differentiation?

A. Knowledge

B. Length in service

C. Gentlemen

D. Human approach to problems

Who has referred to ‘role’ as the dynamic aspect of
status?

A. Maclver
C. Merton

B. Ralph Linton
D. Cooley

Status of an individual is decided by the position of
an individual on account of:

A. Physical environments

B. Neighbourhood

C. Social relationship

D. Social stratification

Office and status, in our modern day society are:
A. Closely linked with each other

B. Not linked with each other

C. Loosely related to each other

D. Opposed to each other

In primitive societies, greater emphasis is laid on
B. Ascribed status

C. Perceived status D. Polar statuses

The evaluation of status is ________ where as
evaluation of an individual’s role behaviour in a status
s .

A. Prestige, esteem

B. Esteem, privilege

C. Privilege, personality

D. Position, esteem

Individual’s talent and effort are manifest in his

A. Achievement of status
B. Ascription of status
C. Gratification of needs
D. Getting a good job

48.

49.
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Which of the following is not covered under the
category of status?
A. Bride

C. Factory manager

B. Ticket examiner
D. Travelling

Find out the incorrect match:

A. Polar status — Husband and wife

B. Status-set — Merton

C. Ascribed status — A district magistrate
D. Achieved status — A bank officer

Status of an individual indicates his:
A. Economic placement

B. Political achievement

C. Literary accomplishments

D. Integrated personality

The role that a person believes, others expect his to
play is called _____
A. Perceived role

C. Formal role

B. Internalized role
D. Functional role

The changes from occupational role to retirement role
is knownas ___ .

A. Role-discontinuity
C. Transitional role

B. Role conflict
D. Role insulation

The type of status, which a social class or individual
enjoys, depends upon the
A. Material benefits

B. Social evaluation

C. Educational qualification

D. Proper fulfilment of role-expectation

In an industrial society, all occupational statuses are:
A. Achieved statuses B. Polar statuses
C. Functional statuses D. Ascribed statuses

Shamsher Singh belongs to fighting tribe of the
Northwest frontier. This is an example of
A. Achieved status
C. Formal status

B. Functional status
D. Ascribed status

Pick up one of the following as a factor in role
differentiation:
A. Knowledge
C. Geography

B. Sense of hatred
D. None of the above

Sibling rivalry is a major example of
A. Status comparison
C. Perceived status

B. Internalized status
D. Status-set

________ places the right persons in the right place
in a society.

A. Achieved status
C. Ascribed status

B. Competition
D. None of the above

Author of the book ‘The study of Man’ was:
A. Maclver B. Tylor
C. Ralph Linton D. Kingsley Davis
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Who has distinguished between status and role?
A. Maclver B. Ralph Linton
C. Kingsley Davis D. Sumner

________ refers to a location in a system of social
relationship while ____ refers to the behaviour
associated with that location.

A. Status, role

B. Position, personality

C. Privilege, character

D. None of the above

________ is always related to the expectation a
position where as is attached to the position
as such.

A. Personality, status
C. Esteem, prestige

B. Status, role
D. Prestige, role

Who has distinguished between achieved status and
ascribed status?
A. Ralph Linton
C. Le Bon

B. Simmel
D. Maclver

________ refers to formally designated position in a
group with officially specified rights and duties.

A. Formal status B. Legal status

C. Role making D. Functional status

Which one of the following is not a contributory
factor in deciding status?
A. Office

C. Physical ability

B. Family
D. Tastes

Status is something which is:
A. Comparable B. Non-comparable
C. Concrete D. Absolute

Ascribed status in society is one which an individual
gets:

A. after hard labour

B. after some labour

C. of his own

D. on the basis of his ability

In fancy isan ________ status.
A. Achieved B. Integrated
C. Ascribed D. Absolute

A statue was raised in honour of a dead leader it
indicates that the people had for him:

A. Prestige

B. esteem

C. to remind the posterity of his deeds

D. a status is ascribed to him

Which one of the following is not an achieved status?
A. engineer B. land lord
C. brahmin D. priest

71.
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80.

81.
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“The manner in which a person actually carries out the
requirements of his position”, called:

A. role B. status
C. culture D. office
The term is used to refer to the total

catalogue of social roles played by an individual.

A. role set B. role repertoire

C. multiple roles D. status sequence
The precedence of one role over another is called:
A. role superiority B. role-primacy

C. role-precedent D. role-model

________ refers to set of roles that centres around a
particular social status.
A. dual status B. polar statuses

C. role-set D. role-continuity

________ refers to taking of a role of another by
viewing one self from the point of view of the other.
A. role insulation B. role-model

C. reflexive role taking D. none of the above

Who has given the concept of “Reflexive role taking”?
A. Merton B. Linton
C. Cooley D. G.H. Mead

The role that a person believes, others expect him to
play is called _____

A. perceived role B. internalized role

C. formal role D. functional role

The changes from the countership to marriage is
referred toas ___

A. role-discontinuity B. perceived role
C. internalized role D. role-continuity

Which of the following is not an achieved status?

A. Professor B. Minister

C. Engineer D. Old age

Which of the following is an achieved status?
A Age B. Sex

C. Kinship D. Doctor

Who has referred to ‘role’ as the dynamic aspect of
status?

A. Maclver
C. Merton

B. Ralph Linton
D. Cooley

According to ________ , “Status is a place in a
particular system which a certain individual occupies
at a particular time”.
A. Mazumdar

C. Linton

B. Maclver
D. Kingsley Davis

Small children are taught to play with dolls, to play
house, to play doctor and soon. This is an example of:
A. role expectations B. role playing

C. playing-at-a-role D. role taking
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A woman imagines her self in the position of her
significant other an sees herself through their eyes,
this is an example of:

A. role expectations B.
C. playing-at-a-role D.

role playing
role taking

Bureaucratic organisations are designed to acquaint
inductees with their rights and obligations. This is an

example of:
A. role B. role expectation
C. role performance D. role enactment

________ is a state of relative isolation of the
occupants of a role.
A. role-insulation B.

C. ambiguous role D.

role-discontinuity
role-isolation

Individual’s talent and effort are manifest in his:
A. achievement of status

B. ascription of status

C. gratification of needs

D. getting a good job

What is the term used for statuses which are arranged
in such a manner that individuals occupy them in
regular sequence?

A. Status inheritance
C. Status sequence

B. Status multiplication
D. Status set

Every man in the society occupies a number of statuses.
Different status associated with a single person is
known as:

A. Status inconsistency
C. Status set

B. Status sequence
D. Status succession

Among the following mark out the one who enjoys
prestige:

A. A rich businessman

B. A doctor in private practice

C. A broker

D. A magistrate

Who does not have the esteem among the following?
A. A successful dentist

B. A popular police officer

C. A high official charged for corruption

D. A brilliant student

Among the following, which do not indicate status?
A. Bharat Ratna

B. Labourer

C. The title of Knighthood

D. Use of the prefix “Pandit”

In our modern society a scribed status:

Is replacing achieved status

Controlling achieved status

Is being replaced by achieved status

Has not been at all affected by achieved status

Cnow»>
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Which statement on roles is wrong?

A. An individual in the course of his life performs a
number of different roles, successfully or
simultaneously

B. The synthesis of all the social roles that an
individual has performed from birth to death
constitutes his social personality

C. A person cannot perform his role without the co-
operation of his social circle

D. Roles do not figure in the process of socialisation

What is not the social role in the following?

A priest performing a ceremony

A politician preaching the cult of violence

A lawyer preparing his witness

An actor involved in an act of violence on the
screen

Saw»

Indicate out of the following which of the offices held
by ‘A’ from time to time was prestigious to him?
A. ‘A’ was highly successful as an advocate

B. ‘A’ had been an esteemed member of parliament
C. ‘A’ remained a minister but had to resign

D. ‘A’ as the head of a statutory body

What does not constitute a social role in the following?
A. A worker on the field

B. A person committing a dacoity

C. A police man pursuing a dacoit

D. A teacher in his class

Which one of the following cannot be placed under
the category of achieved status?

A. head of an office

B. manager of a firm

C. director of an organisation

D. recipient of some money

Which one of the following is not the characteristic of
status?

A. It is permanent

B. It has no permanency

C. It changes with time

D. It changes with place

Which one of the following is not the characteristic of
status?

A. It changes from individual to individual

B. It changes from office to office

C. It changes with the circumstances

D. It is not influenced by the circumstances

Social status of an individual is formed through:
A. Aspiration alone

B. Achievement alone

C. None of the both

D. Both combined together
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The people who enjoy high status in society wish:
A. The others to come up to them

B. The others to go down

C. To maintain the status quo

D. To bring revolutionary changes

In our modern society which one of the following is
not relevant factor in status?

A. Extent of distribution of rewards

B. Hereditary position of the ancestors

C. Accumulated wealth

D. Influence in administration

Who of the following has said that “role is the manner
in which a person actually carries over the requirements
of his position?

A. Sheriff and Sheriff

B. Kingsley Davis

C. Maclver and Page

D. Ogburn and Nimkoff

When incompatibility arises between two or more roles
an individual is expected to perform in a griven
situation, the situation is called
A. incompatibility of roles

B. counterfeit role

C. role-conflict

D. antagonised role

Which of the following is not true of the role of a
leader of a group?

A. He serves as a model for the others

B. He provides cognitive focus for unity

C. He is prime figure for his followers

D. He controls groups relations

Match both the groups:

Group-1 Group-2
(a) Polar statuses 1. Sibling rivalry
(b) Status comparison 2. G.H. Mead
(c) Reflexive role taking 3. Doctor-Patient
(d) Linton 4. Achieved Status and

Ascribed Status

Codes:

(a) (b) (o) (d)
A 2 1 3 4
B. 3 1 2 4
C. 4 3 2 1
D. 1 4 3 2

Role conflict does not arise when a person is given a
role:

A. Which one does not like to perform

B. Which is not conducive to his environment

C. Which conflicts with the interests of the others
D. When each one works under a well planned system
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Which one of the following is appplicable to ‘achieved
status’?

A. One which is acquired through competition

B. One which is acquired through cultural diffusion
C. Acquired through personality development

D. All of these

________ refers to taking of the role of another by
viewing one self from the point of view of the other.
A. Role insulation

B. Role-model

C. Reflexive role taking

D. None of the above

Who of the following has said that “a social role is
pattern of behaviour expected of an individual in
certain group or situation”?

A. Maclver B. K. Young
C. Kingsley Davis D. Lundberg
The of citizenship, religious affiliation and

community membership is in most cases a matter of
identificaltion with the parents.

A. Achievement B. Ascription

C. Conferral D. Right

The urban conditions of life and the extreme division
of labour has made possible the:

Ascription of status

Institutionalization of status

Achievement of status

Status comparison

cScaow»

________ tends to reinforce individual’s own particular
role perspective and decrease his under standing of
others points of view:
A. Ethnocentrism

C. Ethical role

B. Role-insulation
D. Role-model

The emphasis on ascription or achievement criteria in
a particular society depends very much on the whole
package of ____ of that society.

A. social values B. gratification as system
C. economic values D. political values

Status is essential:

A. For an individual only

B. For the society as a whole

C. Neither for the individual nor for the society
D. Both for the individual and the society

When incompatibility arises between two or more roles
an individual is expected to perform in a given
situation, the situation is called:

incompatibility of roles

counterfeit role

role-conflict

antagonized role

oSaw»>
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In our modern society which one of the following is
not relevant factor in status?

A. extent of distribution of rewards

B. hereditary position of the ancestors

C. accumulated wealth

D. influence in administration

Only adults are allowed to see a particular movie that
is being shown in the city theatre. Here, ‘Adult hood’
can be referred to as ____ .

A. Ascribed status

B. Confered status
C. Achieved status D. Polar status

Role indicates what:

A. individual owes to the society

B. society owes to the individual

C. are the privileges of individuals in his society

D. what individuals owes to the society and what
individual expects from it

Who has said in relevance to status that, “Every society,
no matter how simple or complex, must differentiate
persons interms of both prestige and esteem.”

A. Ginsberg B. Gillin and Gillin

C. Kingsley Davis D. Merton

Which one of the following is not relevant to status?

A. Tt helps in specialisation of functions

B. It is essential for promotion of responsibility
C. Itis needed for balanced personality development
D. It helps in developing honesty and integrity

A person’s ____ in any situation is defined by

the set of expectations for his behaviour held by others
and by the person himself.

A. Status B. Responsibility

C. Role D. Position

A little boy pushes out his undeveloped belly and
pompously swings an imaginary club in copy of the
policeman who walks past his house everday. Which
of the following explains this best?

A. Role set B. Role playing

C. Role D. Socialization

A person with a relatively low status in a formal
hierarchy of status position may achieve prestige
because of another status outside that group such type
of status is called:
A. Involuntary status
C. Informal status

B. Achieved status
D. Potential Status

________ refers to a role that an individual pretends
to be his own, but in reality that has been assumed as
a cover to protect him from the penalties associated
with his actual role.
A. Dual role

C. Ambiguous role

B. Counter feit role
D. Unethical role
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What typed of role, out of the following a woman is
not supposed to perform in a diveloping society:
A. To take care of the household

B. To attend to field

C. To perform strenuous job

D. To do immoral work

In a modern advanced society role of one of the
following is more important than that of the following
is more important than that of the others. Pick up one:
A. Those who enjoy political power

B. Those who are law abiding

C. Those who are law violators

D. Those who are close to the centre of power

Who of the following has said that, “A role is a set of
socially expected and approved behaviour pattern
consisting of both duties and privileges”?

A. Ogburn and Nim Koff

B. Kingsley Davis

C. Maclver

D. None of the above

Kinship is considered an important factor for Role
differentiation because of fact that those who have
links with good people:

A. Can create social problems

B. Can help in solving social problems

C. Can discharge important obligations

D. Can’t discharge any significant obligation

Officer may have a functionally more important and
dominant role than a higher ranking line officer. Here,
the status of the medical officer is called _____
A. rational status B. functional status

C. utility status D. informal status

Who of the following has said that, “Since each person
has but so much time, energy and ability and since his
activities must achieve results and satisfy needs, his
system of statuses must be integrated”?

A. Maclver B. K. Young

C. Kerton D. Kingsley Davis

Bihari Lal, who has amassed a lot of wealth out of
black marketing, is constructing a house for the
mentally retarded children, and posing as a saviour of
the down trodden his present role can be called

A. Role insulation
C. False role

B. Counterfeit-role
D. Role-set

One of the following has said that “status is social
position that determines for its possessor a part from
his personal attributes or social service, a degree of
respect, prestige and influence. Pick up the one:

A. Merton B. C. North

C. Maclver and Page D. Gillin and Gillin

(2711) Sociology—5
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Justice Ghosh has been appointed to investigate into
the corruption charges against his son, who happens
to be the director of a public company. The situation
of justice Ghosh can be referred to as:

A. Role-conflict B. Dual Role

C. Status-set D. Perceived role

Point out the condition under which status comparison

cannot be made:

A. Person must be able to observe rewards

B. Person must have approximately same power

C. Person should be capable of ignoring rewards

D. Persons whose rewards and costs are not much
different from his own.

Role of authoritative group leader does not include
one of the following. Pick up that:

A. he takes maximum responsibility

B. he undertakes absolute functions

C. he dictates all activities

D. he promotes people’s participation in activities

In a society role conflicts arise when:

A. people are not aware of their proper role

B. people know but do not perform their role properly
C. role of everyone is not clear

D. the poeple are not rewarded for performing their

role.

In our modern society which one of the following is
supposed to be performing more important role?

A. Those who are engaged in production

B. Those engaged in distribution

C. Those who are consumers of goods

D. None of the above

Who of the following has said that, “A role is a set of
socially expected and approved behaviour pattern
consisting of both duties and privileges”?

A. Ogburn and Nim Koff

B. Kingsley Davis

C. Maclver

D. None of the above

Accordingto ____ | , “status is a place in a particular
system which a certain individual occupies at a
particular time.”
A. Mazumdar
C. Linton

B. Maclver
D. Kingsley Davis

________ refers to an individual whose behaviour in
a particular role provides a pattern upon which another
individual bases his behaviour in performing the same
role.

A. role-model B.

C. internalized role D. perceived role

ideal role
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When the old Testament prop het Abraham was
commanded by God to slay his son, his role as a father
conflicted with his role as god’s servant. This is an
example of:

A. role set

B. role conflict

C. role performance

D. role playing

A little boy pushes out his undeveloped belly and
pompously swing an imaginary club in copy of the
policeman who walks past his house everyday. Which
of the following explains this best?

A. role-set
B. role-playing
C. role

D. socialization

Role of authoritative group leader does not include
one of the following. Pick that up:

A. he takes maximum responsibility

B. he undertakes absolute functions

C. he dictates all activities

D. he promotes people’s participation in activities

In democratic society role of a leader is not:
A. to take unilateral decision

B. to involve people in decision making
C. to encourage decentralisation

D. to decrease social tensions

Age is considered an important cause of role-
differentiation because:

A. of physical strength of the person concerned
B. of supposed capability for handling serious jobs.
C. of increased social relationship

D. of high social status

In our modern society which one of the following is
supposed to be performing more important role?

A. those who are engaged in production

B. those who are engaged in distribution

C. those who are consumer of goods

D. none of the above

Which is not the way to achieve a status?
Manifestation of unusual talent

High class professional education

High appreciation gained for the work done
Raising a fortune by uncivic means and giving
away a good part of it as charity

Saw»

“Status is the social position that determines for its
possessor a part from his personal attribute or social
services, a degree of respect, prestige and influence”—
this definition has been given by:

A. Green B. Ginsberg

C. Maclver D. Davis
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151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

Article ___ provides for a Commissioner/
Chairman for scheduled castes.

A. 338 B. 339

C. 340 D. 342

Which Article of the constitution deals with specifying
a particular tribe as a scheduled tribe?
A. Art. 342 B. Art. 343
C. Art. 344 D. Art. 345

Which Article of the constitution deals with the
appointment of a minister in charge of tribal welfare?
A. Art. 164 B. Art. 165
C. Art. 166 D. Art. 167

In India which of the following was true about caste
system in the past?

A. it was based on birth

B. it was based on religion

C. it was based on the ability of the persons

D. it was based on feudal system

Under the constitution the President shall include a
caste in the schedule on the recommendation of:

A. State legislature

B. Parliament

C. Governor

D. Chief Justice of India

Power to include or exclude a caste from the schedule
has been given under our constitution to the:

A. President B. State Governor

C. State legislature D. Parliament

Which Article of the constitution deals with the claims
of the scheduled castes and the scheduled tribes to
services and posts?
A. Art. 335
C. Art. 337

Which Article of the constitution defines scheduled
castes and scheduled tribes?

A. Art. 364 B. Art. 365

C. Art. 366 D. Art. 367

B. Art. 336
D. Art. 338

Under the constitution for which of the following
states a provision has been made for appointing a
minister incharge of tribal welfare?

A. UP. B. Jharkhand

C. Tamil Nadu D. West Bengal

Of the following who was the staunchest champion
of the cause of the scheduled castes and scheduled
tribes?

A. Rafi Ahmed Kidwai

B. Gobind Ballabh Pant

C. Mahatma Gandhi

D. Dr. Zakir Hussain

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

During freedom struggle our national leaders made it
clear that after independence they will:

A. not touch caste system

B. radically change caste hierarchy

C. abolish caste system

D. strengthen caste system

Which Article of the constitution has made it
obligatory on the state to protect the people of the
S.C. and S.T. from all forms of exploitation?

A. Art. 44 B. Art. 45

C. Art. 46 D. Art. 47

Under which Article of the constitution has
untouchability been abolished?

A. Art. 15 B. Art. 16

C. Art. 17 D. Art. 18

Articles 330, 332 and 334 provide for reservation of
seats for SCs and STs inthe

A. House of people and state legislature

B. Services

C. State legislatures

D. House of parliament

The article ___ provides for reservation for
scheduled castes and scheduled tribes in the services.
A. 335 B. 336

C. 338 D. 339

Current thinking about revision of schedules is that:
A. those should be revised

B. these should not be touched

C. more people should be included in the schedule
D. none of the above is true

________ Governor of a state has been given
special powers in relation to scheduled tribes.
A. Fifth schedule B. Seventh schedule
C. Ninth schedule D. Article 17

The people are not prepared to come out of the schedule
because that:

A. will reduce their social prestige

B. will increase their privileges

C. will redicule them in society

D. will deprive them of certain privileges

Article ____ provides for a Commissioner/
Chairman for scheduled tribes.

A. 337 B. 337A

C. 338 D. 338A

Which of the following constitutional amendment
provided a separate commission for scheduled castes
and scheduled tribes?
A. 89th
C. 95th

B. 90th
D. 97th
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ANSWERS
1 2 3 4 5 6 7 8 9 10
C B A D D B
11 12 13 14 15 16 17 18 19 20
A D A D A C C C D C
21 22 23 24 25 26 27 28 29 30
B C D A B A A B A A
31 32 33 34 35 36 37 38 39 40
A D B C D D D B D C
41 42 43 44 45 46 47 48 49 50
A B C A B A A D C D
51 52 53 54 55 56 57 58 59 60
A A B A D C A A C B
61 62 63 64 65 66 67 68 69 70
A C A A D A C C B C
71 72 73 74 75 76 77 78 79 80
A A B C C D A A D D
81 82 83 84 85 86 87 88 89 90
B C C D B A A C C D
91 92 93 94 95 96 97 98 99 100
C B C D B C B D B D
101 102 103 104 105 106 107 108 109 110
D C B B C D B D D C
111 112 113 114 115 116 117 118 119 120
D B C B A D C B C D
121 122 123 124 125 126 127 128 129 130
C D C B C B D A A C
131 132 133 134 135 136 137 138 139 140
B D B C A C D C A A
141 142 143 144 145 146 147 148 149 150
C A B B D A B A D C
151 152 153 154 155 156 157 158 159 160
A A A A C D A C B C
161 162 163 164 165 166 167 168 169 170
C C C A A A A D D A
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